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% Two equal masses connected by spring on a smooth surface-
% Numerical Solution of the ODEs involved

nnnnnnnnn
[t z) =0ODE23 {'two_mass spr:mg
cmx=0.5% (z(:,1)+2(:,5)) ;
cmy=0.5*(z(:,3)+z(:,7));

hold on;
plot(z{:,1),2(:,3),'-."};
plot{(z(:,5),2(:,7),'--");
plot {(cmx, cmy) ;

axis ('square') ;

xlabel ('x');

ylabel ('y');

title('Basant Sharma, HW6, Problem 1 (5.147)');
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%%
fo s0), [1 0.2 1-0.1-10-10]);

% Equations of Motion two_mass_spring.m
function zdot = twomass(t,z)
x1 = z{(1);

vxl = z(2);

¥yl = z(3);

vyl = z(4);

x2 = z(5);

vx2 = z(6);

Y2 = z(7);

vy2 = z(8);

% mass and spring constant

m = 1;

k = 1;

% unstretched length of spring

* the ratio k/m

£ = k/m;

% repitition of the same function

expn = 1-2*R/sqrt((x1-x2)"2+(yl-y2)}*2);

xldot = vx1;

vxldot = -f*(x1-x2)*expn;

yldot = vyl;

vyldot = -f*(yl-y2)*expn;

x2dot = vx2;

vx2dot = f*(x1-x2)*expn;

y2dot = vy2;

vy2dot = f*(yl-y2)*expn;

zdot = [xldot, vxldot, yldot, vyldot, x2dot, vx2det, y2dot, vyadot] ';
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Basant Sharma, HW6, Problem 1 (5.147)
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